4074048 27H(R) TUR)—hyF SUFX

HHEHI ouUT IN GROSS | HDCP NET
2R ==V I 0 42 37 79 9 70
B | fEt 5 37 42 79 9 70
3L WA = 38 41 79 8 71
4L T BE— 44 38 82 9 73
54z NG FHE 42 40 82 9 73
64z il E— 41 41 82 9 73
741 BRE EH 40 40 80 6 74
8{i KkH RE 40 42 82 8 74
9fL RE E&F 38 43 81 6 75
106L RE &R 47 38 85 9 76
1142 BH EE 43 41 84 8 76
12431 B & 41 41 82 6 76
13431 HKHE F=—8 45 41 86 9 77
1441 Hi% IF 43 43 86 9 77
15431 AH #= 42 44 86 9 77
164 ik FIEER 41 45 86 9 77
17431 TE %EA 44 43 87 9 78
1841 RH & 42 42 84 6 78
1941 HM K& 40 41 81 3 78
20131 mEiE T 41 46 87 9 78
2141 F#H# B+ 44 43 87 8 79
2241 FEilE MRA 43 43 86 7 79
23431 EH OERXR 43 45 88 9 79
24431 all %A 42 46 88 9 79
2541 ®TE RA 45 43 88 8 80
2641 =iE EIE 42 41 83 3 80
274z === =< 41 45 86 6 80
2841 a0 Bt 48 43 91 9 82
291i% FE R 43 41 84 2 82
30%L BER g 44 43 87 5 82




314 =H# RE 45 45 90 8 82
324 [L# &’= 42 46 88 6 82
3343 BHR = 47 44 91 8 83
3443 nE =E 42 49 91 8 83
354L FRX 8% 46 47 93 9 84
364:L XH* i 41 42 83 +1 84
37 Hx ER 45 48 93 9 84
3843 EBE B’x 41 46 87 2 85
3943 LA 8h 47 49 96 7 89
40131 HO fIE 46 46 92 1 91
407404 A27H(H) RUR—hyT AUSR
HERHI ouT IN GROSS | HDCP NET
2R i E— 43 44 87 10 77
BB | WKk FA 44 44 88 10 78
3L s fE—ER 43 45 88 10 78
4431 ZH B 43 46 89 10 79
54z FEZE W& 42 47 89 10 79
613z #HB IES 47 44 91 10 81
741 & & 44 48 92 10 82
8131 IR At 48 46 94 10 84
el R PaF 47 47 94 10 84
106:% AH ZE 46 48 94 10 84
11431 X 51 46 97 10 87
124 EH XA 45 52 97 10 87
13431 ZAR BAE 52 46 98 10 88
14431 At ZFE 51 47 98 10 88
15431 =1 #8F 51 49 100 10 90
1661 | MAF 1B 47 53 100 10 90
1741 gk HEE 47 54 101 10 91
1843z SFE ERh 53 53 106 10 96
4074048 27H(A) TUR)—hvF BUTR
k=k:1] ouUT IN GROSS | HDCP NET
2R RE —F 45 43 88 11 77




EEE | £ B 43 49 92 13 79
3z Rk /LHH 46 47 93 13 80
441 Rk & 44 49 93 13 80
51z A& f#gxr 48 45 93 12 81
613z nE i& 48 47 95 14 81
71z &8 EXE 45 47 92 11 81
8{is #Ill E£5 45 50 95 12 83
9fiz iR B— 44 52 96 13 83
1043z miE & 51 46 97 11 86
1143 WA & 50 48 98 12 86
1241 BK B 53 46 99 12 87
13431 =i FE 46 53 99 11 88
1441 = X 55 48 103 11 92
15431 afdE EA 58 49 107 13 94
1643z Rk Eig 55 50 105 11 94
407404 A27H(H) RURY—HyF CUSR

A ouT IN GROSS | HDCP NET

2R 214 XF 44 43 87 19 68

EEK | BEE EL 51 49 100 27 73
K] (72 BX B 48 45 93 19 74
Y mE =RE 46 47 93 19 74
5{1 RER F 45 47 92 16 76
643z ARER Ei 47 48 95 18 77
743z ARER F— 47 47 94 16 78
81z NIRRT 50 47 97 18 79
oL +% = 50 47 97 18 79
104 KE 28 45 49 94 15 79
1142 B R 52 53 105 25 80
1241 BAR B2z 48 51 99 19 80
13431 F#H B 47 51 98 18 80
1441 Bl & 50 56 106 26 80
15431 =B = 46 55 101 18 83




164 21| 49 52 101 17 84
17431 BK & 52 58 110 24 86
18431 e #EX 54 57 111 23 88
19431 HE - 57 51 108 19 89
201L xE BRE 49 56 105 16 89
2143 B FIEE 57 56 113 23 90
22431 By —HB 53 59 112 22 90
2341 2| Z 57 54 111 18 93
24431 =H % 58 65 123 21 102




